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1 Introduction 

Low savings rate has long been a concern among economists. Policy makers have been 

attempting to use several instruments to encourage savings ranging from tax incentive to 

nudging with a default option. One instrument is an alternative saving vehicle that bundles 

saving and lottery, so-called Prize Linked Savings (PLS). The PLS accounts holders have a 

chance to win a prize along with an interest return without losing principal. The interest rate 

of the PLS accounts is typically lower than the traditional saving account. However, the 

chance of winning a big prize may be appealing to consumers who regularly purchase 

lotteries since PLS accounts, equivalently, use a portion of interest return to buy lotteries for 

the account holders.  

The PLS prizes are drawn periodically and the PLS holders would have a chance to win a 

prize as long as they keep their investment in the account. It is common that the chance of 

winning the prizes is increasing with the deposit amounts. However, the number of grand 

prizes is usually fixed regardless of the total amount of the PLS investment, which means that 
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the chance of winning the prizes depends on the total pool: the larger the pool, the smaller the 

chance.2  

Though marketed for a long time, PLS accounts just gained some interests in academic 

research recently. Tufano et al. (2011) conducted a survey and concluded that the PLS 

product might be appealing to the U.S. consumers especially on heavy lottery players, non-

savers and those with low savings. 

Cole et al. (2016) studied the impact of PLS accounts in South Africa. They found that PLS is 

attractive to a broad group of individuals especially those with low savings. They did not see 

any evidence that the PLS account cannibalized traditional savings. In fact, they found the 

reverse: branches with higher amount of PLS also observed a greater increase in traditional 

savings, and individuals with the PLS accounts typically increased their balances in 

traditional savings accounts. However, they could not rule out the fact that the increase in 

traditional savings from individuals may be because those PLS holders may shift some of 

their savings from other banks to the bank that offered the PLS accounts for their 

convenience, as they mentioned in the paper that “although these relationships are not 

necessarily casual”. Our experiments can rule out this possibility and the results support their 

claim that the PLS does not cannibalize traditional savings. Subjects in our experiments 

reduce their consumption when the PLS account is available to them. Moreover, when the 

interest rates are low, subjects invest in the PLS account without reducing their saving in 

traditional savings accounts. 

Cookson (2017) studied how individual gambling expenditures respond to the introduction of 

the PLS product in Nebraska. He used a difference-in-difference design to show that 

individuals in counties that offer PLS reduce gambling by at least 3% more than unaffected 

individuals. This result provides an evidence that individuals view gambling and PLS as 

substitute products.  

Filiz-Ozbay et al. (2015) conducted series of experiments to compare PLS and traditional 

saving products. They found that the PLS product can better encourage individuals to defer 

payment as compared to a guaranteed interest payment, especially among male and self-

                                                 
 

2 For example, the “Million-a-Month Account” (MaMa) offered by First National Bank in South Africa awarded 
a grand prize of R1,000,000 (approximately $150,000) every month regardless of the amount of the investment 
in the MaMa account (Cole et al. 2016). 
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reported lottery buyers. Atalay et al. (2014) reported an increase in total savings and decrease 

in lottery expenditures after an introduction of the PLS accounts in online experiments. We 

intentionally design our PLS (L) treatment to be similar to this study. Our descriptive results 

are similar to theirs.  

Dizon and Lybbert (2017) conducted a lab-in-field experiment with Haitian subjects in Port-

au-Prince to study the effect of a lotto-linked savings (LLS).3 They found that subjects save 

more with the presence of the LLS product and the saving rate is higher when the LLS 

returned more principal and less lotto gambling. They also found that LLS is more effective 

on subjects who spent more on the lottery before the introduction of the LLS and who 

overweight small probabilities. 

Unlike other experimental studies, we introduce PLS accounts with guaranteed winners that 

allow the strategic interaction among PLS depositors. Rather than a known probability of 

winning the prizes, in our settings, a probability of winning the PLS prize depends on an 

individual’s allocation in the PLS account relative to the total pool. In the presence of 

negative externalities, the number of PLS account holders become non-trivial. Thus, the 

strategic choice may make PLS product unappealing to risk- or ambiguity-averse consumers. 

However, this feature is more similar to the existing PLS products and more practical for 

financial institutions since it would limit total expenditure for them. With our design, we can 

also analyze the effectiveness in encouraging savings from different PLS types by varying the 

number of depositors as well as the number of winners while keeping the total amount of 

prizes fixed.  

We develop a theoretical model to derive each player’s best response function in allocating 

money between early consumption, traditional savings with fixed interest rate, and a PLS 

account with guaranteed winners. We prove that there exists a unique equilibrium given 

heterogeneous risk-averse players. We also provide comparative statics results that are 

comparable with our experimental design. In equilibrium, we show theoretically that an 

existence of PLS does not increase total savings; however, our experimental results contradict 

this. Subjects in our experiments significantly increase total savings when PLS is available by 

more than 20 percentage point. This effect is considerably large; an increase in total savings 

                                                 
 

3 The only difference between LLS and PLS is the LLS does not preserve the principal whereas the PLS does. 
The minimum return of the LLS in Dizon and Lybbert (2017) ranges from 60-100%. 
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from an introduction of PLS is even bigger than using a higher interest rate. In addition, when 

interest rate is low, subjects reduce early consumption to allocate more toward PLS without 

reducing traditional savings. Our results suggest that PLS would be a cost-effective way in 

encouraging more savings. 

 

2 Theoretical model 

We analyze a two-period model with 𝑛 players. Each player (also called player ݅ for ݅ =ͳ, …𝑛) is given income 𝐼௜௧ and derives utility from consumption in period ݐ, denoted by ܿ௜௧ ൒ Ͳ, for ݐ = ͳ and ʹ. We assume that player ݅’s utility function is given by ݑ௜ሺܿ௜௧ሻ = −݁−𝛼𝑖௖𝑖𝑡 
where ߙ௜ > Ͳ. This utility function exhibits strict concavity in ܿ௜௧ and constant absolute risk 

aversion (CARA).  In period 1, each player chooses to save ݔ௜ ൒ Ͳ in a traditional savings 

account and ݕ௜ ൒ Ͳ in a prize-linked savings (PLS) account such that ݔ௜ + ௜ݕ ൑ 𝐼௜ଵ. The 

traditional savings account pays interest in period 2 at rate ݎ. The PLS account does not pay 

interest, but one of the account holders will be randomly chosen as the prize winner and paid ܴ in period 2. Regardless of whether he wins the prize, he will get ݕ௜ back in period 2. 

Therefore, ܿ௜ଵ = 𝐼௜ଵ − ௜ݔ − ௜, ܿ௜ଶݕ = 𝐼௜ଶ + ௜ሺͳݔ + ሻݎ + ௜ݕ + ܴ if he wins the prize, and ܿ௜ଶ = 𝐼௜ଶ + ௜ሺͳݔ + ሻݎ + ௜ݕ௜/ሺݕ ௜ if he does not win. The probability that player ݅ wins the prize isݕ + −ܻ௜ሻ where −ܻ௜ = ∑ ௝௡௝≠௜ݕ . We let ߚ௜ be player i’s discount factor for his utility in 

period 2 so that his expected utility (EU) over the two periods can be written as  

𝑈௜ሺݔ௜ , ௜ሻݕ = ௜ሺ𝐼௜ଵݑ − ௜ݔ − ௜ሻݕ + ௜ߚ ௜ݕ௜ݕ + −ܻ௜ ௜ሺ𝐼௜ଶݑ + ௜ሺͳݔ + ሻݎ + ௜ݕ + ܴሻ+ ௜ߚ −ܻ௜ݕ௜ + −ܻ௜ ௜ሺ𝐼௜ଶݑ + ௜ሺͳݔ + ሻݎ +  ௜ሻݕ
2.1 PLS Equilibrium 

We define ∆𝐼௜: = 𝐼௜ଶ − 𝐼௜ଵ. Setting 
𝜕𝑈𝑖𝜕௫𝑖 = Ͳ and 

𝜕𝑈𝑖𝜕௬𝑖 = Ͳ yields the first-order conditions: ߚ௜ሺͳ + ௜ݕሻݎ + −ܻ௜ ሺݕ௜݁−𝛼𝑖𝑅 + −ܻ௜ሻ = ݁𝛼𝑖ሺ∆𝐼𝑖+ሺଶ+௥ሻ௫𝑖+ଶ௬𝑖ሻ 
and 
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௜ݕ௜ߚ + −ܻ௜ ቆ −ܻ௜ݕ௜ + −ܻ௜ ∙ ͳ − ݁−𝛼𝑖𝑅ߙ௜ + ௜݁−𝛼𝑖𝑅ݕ + −ܻ௜ቇ = ݁𝛼𝑖ሺ∆𝐼𝑖+ሺଶ+௥ሻ௫𝑖+ଶ௬𝑖ሻ 
respectively. Let ݔ௜∗ and ݕ௜∗ be choice variables that satisfy the two conditions above4. Since 

the right-hand sides of the two conditions are identical, we can set the left-hand sides equal to 

each other, i.e.,  ߚ௜ሺͳ + ௜ݕሻݎ + −ܻ௜ ሺݕ௜∗݁−𝛼𝑖𝑅 + −ܻ௜ሻ = ∗௜ݕ௜ߚ + −ܻ௜ ቆ −ܻ௜ݕ௜∗ + −ܻ௜ ∙ ͳ − ݁−𝛼𝑖𝑅ߙ௜ + ௜∗݁−𝛼𝑖𝑅ݕ + −ܻ௜ቇ 

which implies the following quadratic equation: 

݁−𝛼𝑖𝑅ݕ௜∗ଶ + ሺͳ + ݁−𝛼𝑖𝑅ሻ −ܻ௜ݕ௜∗ + [ −ܻ௜ଶ − −ܻ௜ ቆͳ − ݁−𝛼𝑖𝑅ߙ௜ݎ ቇ] = Ͳ 

Therefore, player i’s best response function can be written as the positive solution of the 

above equation, i.e., 

∗௜ݕ = ͳʹ݁−𝛼𝑖𝑅 [−ሺͳ + ݁−𝛼𝑖𝑅ሻ −ܻ௜ +√ሺͳ + ݁−𝛼𝑖𝑅ሻଶ −ܻ௜ଶ − Ͷ݁−𝛼𝑖𝑅 [ −ܻ௜ଶ − −ܻ௜ ቆͳ − ݁−𝛼𝑖𝑅ߙ௜ݎ ቇ]] 
= −ܻ௜ʹ݁−𝛼𝑖𝑅 [−ሺͳ + ݁−𝛼𝑖𝑅ሻ + ሺͳ − ݁−𝛼𝑖𝑅ሻ√ͳ + Ͷ݁−𝛼𝑖𝑅ߙ௜ݎሺͳ − ݁−𝛼𝑖𝑅ሻ −ܻ௜] (1) 

 

given −ܻ௜ ൒ Ͳ.5 If the positive solution does not exist, then his best response will be zero. 

Thus, we can say that player i’s does not contribute to his PLS account when the bracketed 

sum in the solution is negative, or equivalently, 

−ܻ௜ ൒ ͳ − ݁−𝛼𝑖𝑅ߙ௜ݎ =:  ௜ߢ
We call this value of −ܻ௜ the PLS threshold for player i denoted by ߢ௜. If the sum of other 

players’ PSL is at least ߢ௜, player i's best response is to save nothing in his PLS account.  

                                                 
 

4 We find that the second-order conditions for ݔ௜∗ and ݕ௜∗ to be player i’s EU maximizing choices hold when ∆𝐼௜  
is not too small. Specifically, we assume that there exists c< Ͳ such that ∆𝐼௜ > ܿ. 
5 If −ܻ௜ = Ͳ, then player i’s best response will be a very small positive value denoted by ߝ. This will never 
constitute an equilibrium because each of other players will respond to ߝ by increasing his PLS and, as a result, −ܻ௜ > Ͳ.) 



    6 
 
  

Example 1. Consider a situation in which 𝑛 = ݎ ,ʹ = Ͳ.ͳ, and ܴ = ͳ. If ߙଵ = ͳ, then ߢଵ = 6.321. Player 1 will not save in her PLS account given that player 2 has put at least 6.321 in 

his PLS account. If ߙଶ = ʹ, then ߢଶ = 4.323. Player 2 will not save in his PLS account given 

that player 1 has put at least 4.323 in her PLS account.  

∗௜ݕ = { 
ଶʹ݁−ଵݕ  [−ሺͳ + ݁−ଵሻ + ሺͳ − ݁−ଵሻ√ͳ + Ͷ݁−ଵͲ.ͳሺͳ − ݁−ଵሻݕଶ]Ͳ                                                                       if ݕଶ ൒ ͸.͵ʹͳ  if ݕଶ < ͸.͵ʹͳ  

∗ଶݕ = { 
ଵʹ݁−ଶݕ  [−ሺͳ + ݁−ଶሻ + ሺͳ − ݁−ଶሻ√ͳ + Ͷ݁−ଶͲ.ʹሺͳ − ݁−ଶሻݕଵ]Ͳ                                                                       if ݕଵ ൒ Ͷ.͵ʹ͵  if ݕଵ < Ͷ.͵ʹ͵  

See each player’s best-response function in Figure 1. The two best-response curves cross at ݕଵ = ʹ.ͶͶͺ and ݕଶ = ͳ.ͷ͵͹ which is the unique Nash equilibrium of the game (see point A 

in Figure 1).  Total PLS by the two players are 3.985 and the corresponding probabilities of 

winning the PLS prize are 61.4% for player 1 and 38.6% for player 2. 

Example 2.  If we instead assume that the two players have the same risk parameters, for 

example, ߙଵ = ଶߙ = ͳ, the two best-response curves will cross at ݕଵ = ଶݕ = ʹ.͵ͳͲ. As a 

result, each player has 50% chance of winning the PLS prize (see point B in Figure 1). This 

equilibrium is symmetric and it is unique. 

The above examples demonstrate how we derive an equilibrium of the game when there are 

two players who may or may not have similar preferences. Next we formally show that the 

game has a unique equilibrium given n heterogeneous players where 𝑛 ൒ ʹ. We follow 

Cornes and Hartley’s share function approach to identify an equilibrium. Specifically, we 

define player i’s share ݏ௜ሺ𝜓ሻ : = ௬𝑖∗𝜓 , where 𝜓 = ∗௜ݕ + −ܻ௜ > Ͳ6, to be his probability of 

winning the PLS prize corresponding to his best response to −ܻ௜. Note that this probability is 

written as a function of total PLS by all participants ሺ𝜓ሻ. It follows that we can derive total 

PLS in equilibrium by setting the sum of all shares, i.e., ∑ ௜ሺ𝜓ሻ௡௜=ଵݏ , equal to one. We call 

such a value 𝜓௘ and can say that 𝜓௘  is aggregate PLS in equilibrium.  It follows that player i 

                                                 
 

6 𝜓 = Ͳ is not possible since player i’s best response to −ܻ௜ = Ͳ  is  ߝ > Ͳ. See also the previous footnote. 
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saves ݏ௜𝜓௘  in his PLS account. The following proposition shows that 𝜓௘ is unique so we can 

say that every PLS game has a unique equilibrium. 

 

 

Figure 1. Best response curves and equilibrium 

 

Proposition 1. Given n heterogeneous CARA players, the PLS game has a unique Nash 

equilibrium. 

Proof: 

Eq (1) implies that player i’s optimal PLS amount is ݕ௜∗ such that 

௜∗݁−𝛼𝑖𝑅ݕሺݎ + −ܻ௜ሻ = −ܻ௜ݕ௜∗ + −ܻ௜ ∙ ͳ − ݁−𝛼𝑖𝑅ߙ௜  

If we define player i’s share ݏ௜ሺ𝜓ሻ : = ௬𝑖∗𝜓  where 𝜓 = ∗௜ݕ + −ܻ௜, the above condition can be 

written as 

௜𝜓݁−𝛼𝑖𝑅ݏ]ݎ + ሺͳ − [௜ሻ𝜓ݏ = ሺͳ − ௜ሻݏ ͳ − ݁−𝛼𝑖𝑅ߙ௜  
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which is equivalent to ߙ௜ݎ𝜓ሺݏ௜݁−𝛼𝑖𝑅 − ௜ሻݏ + ௜ሺͳݏ − ݁−𝛼𝑖𝑅ሻ = ͳ − ݁−𝛼𝑖𝑅 −  𝜓ݎ௜ߙ

Therefore, 

௜ݏ = ͳ − ݁−𝛼𝑖𝑅 − 𝜓ͳݎ௜ߙ − ݁−𝛼𝑖𝑅 − ሺͳ − ݁−𝛼𝑖𝑅ሻߙ௜ݎ𝜓 = ௜ߢ − 𝜓ߢ௜ − ሺͳ − ݁−𝛼𝑖𝑅ሻ𝜓 (2) 

 

given 𝜓 ∈ ሺͲ, ௜ሻ  and 0 given 𝜓ߢ ൒ ௜ݏ ௜. We find that (i)ߢ ∈ [Ͳ,ͳሻ, (ii) ݏ௜ → ͳ as 𝜓 → Ͳ, (iii) ݏ௜ → Ͳ as 𝜓 →  ௜, and (iv)ߢ
ௗ௦𝑖ௗ𝜓 = −𝛼𝑖௥௘−𝛼𝑖𝑅ሺଵ−௘−𝛼𝑖𝑅ሻሺଵ−𝛼𝑖௥𝜓ሻ2 < Ͳ for all 𝜓 ∈ ሺͲ, ∑ ௜ሻ. It follows that (i)ߢ ௜௡௜=ଵݏ ∈ [Ͳ, 𝑛ሻ, (ii) ∑ ௜௡௜=ଵݏ → 𝑛 as 𝜓 → Ͳ, (iii) ∑ ௜௡௜=ଵݏ → Ͳ as 𝜓 :ߢ̂ where ߢ̂ → = max  ,௜ߢ

and (iv) ∑ ௜௡௜=ଵݏ  is strictly decreasing for all 𝜓 ∈ ሺͲ, ∋ ሻ.  Thus, there exists a unique value of 𝜓ߢ̂ ሺͲ, ∑  ሻ such thatߢ̂ ௜௡௜=ଵݏ , i.e., the sum of probabilities of winning, is equal to 1. ∎ 

 

 

Figure 2. Share functions 
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Example 1 Revisited.  We have 𝑛 = ଵߙ ,ʹ = ͳ, and ߙଶ = ʹ. If we use share functions 

instead of best-response functions to find an equilibrium, we can plot each player’s share 

function as in panel (a) of Figure 2. Each function is strictly decreasing for 𝜓 ∈  ሺͲ,  ௜ሻ andߢ

there is only one value of 𝜓 such that ݏଵ + ଶݏ = ͳ. That value is 3.985, which is the sum of 

PLS by both players in equilibrium. Since ݏଵሺ͵.ͻͺͷሻ = ͸ͳ.Ͷ%, we know that ݕଵ௘ = ͸ͳ.Ͷ% ∗͵.ͻͺͷ = ʹ.ͶͶͺ.  Similarly, ݏଶሺ͵.ͻͺͷሻ = ͵ͺ.͸% implies that ݕଶ௘ = ͳ.ͷ͵͹.   

Example 2 Revisited.  We have 𝑛 = ଵߙ ,ʹ = ଶߙ = ͳ. Each player’s share function can be 

plotted as in panel (b) of Figure 2. It follows that 4.620 is the only value of 𝜓 such that ݏଵ + ଶݏ = ͳ. Since ݏଵሺͶ.͸ʹͲሻ = ଶሺͶ.͸ʹͲሻݏ = ͷͲ.Ͳ%, we know that ݕଵ௘ = ଶ௘ݕ = ͷͲ.Ͳ% ∗Ͷ.͸ʹͲ = ʹ.͵ͳͲ. 

Example 3.  Let 𝑛 = ଵߙ ,͵ = ͳ, ߙଶ = ʹ, and ߙଷ = ͳ.ͺ. We can plot each player’s share 

function as in panel (c) of Figure 2. Each function is strictly decreasing for 𝜓 ∈  ሺͲ,  ௜ሻ andߢ

we find that 4.267 is only one value of 𝜓 such that ݏଵ + ଶݏ + ଷݏ = ͳ. Since ݏଵሺͶ.ʹ͸͹ሻ =ͷ͸.͹%, ݏଶሺͶ.ʹ͸͹ሻ = ͺ.ͻ%, and ݏଷሺͶ.ʹ͸͹ሻ = ͵Ͷ.Ͷ%, we find that ݕଵ௘ = ʹ.Ͷͳͻ, ݕଶ௘ = Ͳ.͵͹ͻ, 

and ݕଷ௘ = ͳ.Ͷ͸ͻ. 

Example 4.  Let 𝑛 = ଵߙ ,͵ = ͳ, ߙଶ = ʹ, and ߙଷ = ͳ.ʹ. We can plot each player’s share 

function as in panel (d) of Figure 2. All functions are strictly decreasing for 𝜓 ∈  ሺͲ,  ௜ሻ andߢ

we find that 4.540 is only value of 𝜓 such that ݏଵ + ଶݏ + ଷݏ = ͳ. Since ߢଶ = Ͷ.͵ʹ͵ < Ͷ.ͷͶͲ, 

player 2 will not participate in this equilibrium, i.e., ݕଶ௘ = Ͳ. Since ݏଵሺͶ.ͷͶͲሻ = ͷͳ.͸% and ݏଷሺͶ.ͷͶͲሻ = Ͷͺ.Ͷ%, we find that ݕଵ௘ = ʹ.͵Ͷ͵ and ݕଷ௘ = ʹ.ͳͻͺ. 

2.2 Comparative Statics 

We already know that there exists a unique equilibrium when players are heterogeneous in 

risk preferences. Now consider a special case when players are homogeneous. If there are n 

players with ߙ௜ = for all ݅, we can derive a symmetric equilibrium by substituting −ܻ௜ ߙ =ሺ𝑛 − ͳሻݕ௜ in (1) or setting ݏ௜ = ͳ/𝑛 in (2). Either way we can derive each player’s PLS 

deposit amount in a symmetric equilibrium as 

௜௘ݕ = ሺ𝑛 − ͳሻሺͳ − ݁−𝛼𝑅ሻߙ𝑛ݎሺ𝑛 − ͳ + ݁−𝛼𝑅ሻ 
 

(3) 

Proposition 2. Properties of ݕ௜௘: 
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1) 
𝜕௬𝑖𝑒𝜕𝛼 < Ͳ 

2) 
𝜕௬𝑖𝑒𝜕௥ < Ͳ 

3) 
𝜕௬𝑖𝑒𝜕𝑅 > Ͳ  

4) 
𝜕௬𝑖𝑒𝜕௡ < Ͳ and lim௡→∞ ௜௘ݕ = Ͳ 

Proof: 

1) Given ݕ௜௘ = ሺ௡−ଵሻሺଵ−௘−𝛼𝑅ሻ𝛼௡௥ሺ௡−ଵ+௘−𝛼𝑅ሻ, we find 
𝜕௬𝑖𝑒𝜕𝛼 = ሺ௡−ଵሻ௡௥ [௡(𝛼𝑅௘−𝛼𝑅−ଵ+௘−𝛼𝑅)+ሺଵ−௘−𝛼𝑅ሻ2𝛼2ሺ௡−ଵ+௘−𝛼𝑅ሻ2 ]. Let 𝑛 = ʹ. 

The numerator inside the brackets can be written as ʹሺܴ݁ߙ−𝛼𝑅 − ͳ + ݁−𝛼𝑅ሻ +ሺͳ − ݁−𝛼𝑅ሻଶ = 𝛼𝑅−ܴ݁ߙʹ − ͳ + ݁−ଶ𝛼𝑅. We define ܨሺܽሻ = ݁𝑎 − ܽ݁𝑎/ଶ. We know 

that ܨሺͲሻ = ͳ, ܨ′ሺͲሻ = Ͳ, and ܨ′ሺܽሻ > Ͳ for all ܽ ≠ Ͳ. Thus ܨሺܽሻ < ͳ for all ܽ < Ͳ. It 

follows that ܨሺ−ʹܴߙሻ = ݁−ଶ𝛼𝑅 + 𝛼𝑅−ܴ݁ߙʹ < ͳ which is equivalent to ʹܴ݁ߙ−𝛼𝑅 − ͳ +݁−ଶ𝛼𝑅 < Ͳ. Thus 
𝜕௬𝑖𝑒𝜕𝛼 < Ͳ for 𝑛 = ʹ. Since ʹሺܴ݁ߙ−𝛼𝑅 − ͳ + ݁−𝛼𝑅ሻ + ሺͳ − ݁−𝛼𝑅ሻଶ < Ͳ, 

it is necessary that ܴ݁ߙ−𝛼𝑅 − ͳ + ݁−𝛼𝑅 < Ͳ. It follows that 𝑛ሺܴ݁ߙ−𝛼𝑅 − ͳ + ݁−𝛼𝑅ሻ +ሺͳ − ݁−𝛼𝑅ሻଶ < Ͳ for all 𝑛 > ʹ. Therefore, 
𝜕௬𝑖𝑒𝜕𝛼 < Ͳ for any 𝑛 ൒ ʹ. 

2) 
𝜕௬𝑖𝑒𝜕௥ = − ሺ௡−ଵሻሺଵ−௘−𝛼𝑅ሻ𝛼௡௥2ሺ௡−ଵ+௘−𝛼𝑅ሻ < Ͳ. 

3) 
𝜕௬𝑖𝑒𝜕𝑅 = ሺ௡−ଵሻ௘−𝛼𝑅௥ሺ௡−ଵ+௘−𝛼𝑅ሻ2 > Ͳ.  

4) 
𝜕௬𝑖𝑒𝜕௡ = − ሺଵ−௘−𝛼𝑅ሻ𝛼௥ [(ଵ−௘−𝛼𝑅)+௡ሺ௡−ଶሻ௡2ሺ௡−ଵ+௘−𝛼𝑅ሻ2 ] < Ͳ. Since Eq (3) implies ݕ௜௘ = ሺଵ−௘−𝛼𝑅ሻ𝛼௥[௘−𝛼𝑅௡/ሺ௡−ଵሻ+௡], it 

follows immediately that lim௡→∞ ௜௘ݕ = Ͳ. ∎ 

Proposition 2 suggests that in a symmetric equilibrium, participants increase their savings in 

the PLS account as they become less risk-averse, the traditional interest rate decreases, the 

PLS prize increases, or the number of participants decreases. 

Next, we analyze comparative statics on each player’s optimal traditional savings. In general, 

(3) implies that the optimal amount in the traditional savings account for player i is 

௜ݔ = lnሺߚ௜ሺͳ + ሻܼ௜ሻݎ − ௜ሺ∆𝐼௜ߙ + ʹ௜ሺߙ௜ሻݕʹ + ሻݎ  

where ܼ௜ = ௬𝑖௘−𝛼𝑖𝑅+𝑌−𝑖௬𝑖+𝑌−𝑖 . 

In a symmetric equilibrium where ߙ௜ =   ௜௘ is given by (3), we haveݕ for all ݅ and ߙ
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௜௘ݔ = ln ௜ሺͳߚ) + ሻሺ𝑛ݎ − ͳ + ݁−𝛼𝑅ሻ𝑛 ) − ሺ∆𝐼௜ߙ + ʹሺߙ௜௘ሻݕʹ + ሻݎ  

In Figure 3 we plot ݔ௜௢ ௜௘ݔ , ௜௘ݔ ௜௘, andݕ , + ߙ ௜௘ on ܴ.  We assumeݕ = ͳ, ߚ = Ͳ.ͻ, 𝐼௜ଵ = ͵,  𝐼௜ଶ =Ͳ, ݎ = Ͳ.ͳ, and 𝑛 = ͷ.    

 

Figure 3. Individual Saving Rates as 𝑹 increases.  

When PLS savings are not available (or no prize from saving in a PLS account, i.e., ܴ = Ͳ), 

we find that ݕ௜ = Ͳ and  

௜௢ݔ = ln(ߚ௜ሺͳ + (ሻݎ − ʹሺߙ௜∆𝐼௜ߙ + ሻݎ  

Player i’s change in traditional savings when PLS become available can be written as 

Δݔ௜ ≔ ௜௘ݔ − ௜௢ݔ = ͳߙሺʹ + ሻݎ [ln ቆ𝑛 − ͳ + ݁−𝛼𝑅𝑛 ቇ − ʹሺ𝑛 − ͳሻሺͳ − ݁−𝛼𝑅ሻ𝑛ݎሺ𝑛 − ͳ + ݁−𝛼𝑅ሻ ] 
 

(4) 

Proposition 3. Properties of Δݔ௜: 
1) Δݔ௜ < Ͳ 

2) 
𝜕Δ௫𝑖𝜕௥ > Ͳ 

3) 
𝜕Δ௫𝑖𝜕𝑅 < Ͳ 

4) 
𝜕Δ௫𝑖𝜕௡ > Ͳ and lim௡→∞ Δݔ௜ = Ͳ 
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Proof: 

1) The inequality follows because each of the terms inside the brackets is negative. 

2) The inequality follows because each of the terms inside the brackets is negative. 

3) Given ∆ in Eq (4), we find that 
𝜕∆௫𝑖𝜕𝑅 = − ௘−2𝛼𝑅ሺଶ+௥ሻሺ௡−ଵ+௘−𝛼𝑅ሻ2 < Ͳ. 

4) Given ∆ in Eq (4), we find that 
𝜕∆௫𝑖𝜕௡ = (ଵ−௘−𝛼𝑅)[௡−ଵ+ሺ௡+ଵሻ௘−𝛼𝑅]𝛼ሺଶ+௥ሻ௡2ሺ௡−ଵ+௘−𝛼𝑅ሻ2 > Ͳ. Given ∆ in Eq (4), 

we find that each of the two terms in the brackets converges to 0 as 𝑛 goes to ∞. It 

follows immediately that lim௡→∞ ௜ݔ∆ = Ͳ. 
Now we analyze total savings. If we define ∆ݏ௜ : = ௜௘ݔ + ௜௘ݕ −   ௜௢, thenݔ

௜ݏ∆ = ͳߙሺʹ + ሻݎ [ln ቆ𝑛 − ͳ + ݁−𝛼𝑅𝑛 ቇ + ሺ𝑛 − ͳሻሺͳ − ݁−𝛼𝑅ሻ𝑛ሺ𝑛 − ͳ + ݁−𝛼𝑅ሻ ] 
 

(5) 

Proposition 4. Properties of Δݏ௜: 
௜ݏ∆ (1 < Ͳ 

2) 
𝜕∆௦𝑖𝜕௥ > Ͳ 

3) 
𝜕∆௦𝑖𝜕𝑅 < Ͳ 

4) 
𝜕∆௦𝑖𝜕௡ > Ͳ and lim௡→∞ ௜ݏ∆ = Ͳ 

Proof: 

1) For 𝑛 = ʹ, we have ∆= ଵ𝛼ሺଶ+௥ሻ [ln ቀଵ+௘−𝛼𝑅ଶ ቁ + ሺଵ+௘−𝛼𝑅ሻଶሺଵ+௘−𝛼𝑅ሻ]. We define ܩሺܽሻ = ʹln ܽ +
ଵ𝑎. We know that ܩሺܽሻ < ͳ for all ܽ ∈  ሺଵଶ , ͳሻ. Let ܽ = ଵ+௘−𝛼𝑅ଶ . Then, ʹ ln ቀଵ+௘−𝛼𝑅ଶ ቁ +ଶଵ+௘−𝛼𝑅 < ͳ which is equivalent to ln ቀଵ+௘−𝛼𝑅ଶ ቁ + (ଵ−௘−𝛼𝑅)ଶሺଵ+௘−𝛼𝑅ሻ < Ͳ. Thus, ∆< Ͳ given 𝑛 = ʹ. In part 2 below, we prove that 

𝜕∆𝜕௡ > Ͳ, and lim௡→∞ ∆ = Ͳ.  Therefore, ∆< Ͳ 

given any 𝑛 ൒ ʹ. 

2) Given ∆ in Eq (5), we find that 
𝜕∆𝜕𝑅 = − ௘−2𝛼𝑅ሺଶ+௥ሻሺ௡−ଵ+௘−𝛼𝑅ሻ2 < Ͳ. 

3) Given ∆ in Eq (5), we find that 
𝜕∆𝜕௡ = (ଵ−௘−𝛼𝑅)[௡−ଵ+ሺ௡+ଵሻ௘−𝛼𝑅]𝛼ሺଶ+௥ሻ௡2ሺ௡−ଵ+௘−𝛼𝑅ሻ2 > Ͳ. Given ∆ in Eq (5), 

we find that each of the two terms in the brackets converges to 0 as 𝑛 goes to ∞. It 

follows immediately that lim௡→∞ ∆ = Ͳ. 



    13 
 
  

Now suppose that 
𝑅௡ is fixed. In other words, there exists ߣ > Ͳ such that ܴ =  𝑛.   Howߣ

would subjects respond to a larger prize and a larger pool of participants when they both 

change proportionally?  Note that 
𝜕𝑅𝜕௡ = ௜௘݀𝑛ݕ݀  so we have ߣ = ௜௘𝜕𝑛ݕ�� + ܴ��௜௘ݕ��  ߣ

Since 
𝜕௬𝑖𝑒𝜕௡ < Ͳ while 

𝜕௬𝑖𝑒𝜕𝑅 > Ͳ, then the sign of 
ௗ௬𝑖𝑒ௗ௡  is ambiguous. But we know that given ܴ = ܴ ,𝑛ߣ → ∞ as 𝑛 → ∞. It follows that ݕ௜௘ → Ͳ.  

In Figure 4 we plot ݔ௜௢ ௜௘ݔ , ௜௘ݔ ௜௘, andݕ , + ߙ ௜௘ on ܴ.  We assumeݕ = ͳ, ߚ = Ͳ.ͻ, ݎ = Ͳ.ͳ, and ߣ = Ͳ.Ͳͷ.   As we increase the value of R from 0.1 to 1, the corresponding value of n is 

increased from 2 to 20. Note that when R = 0.25, we have 𝑛 = ͷ, ݔ௜௘ = ͵ͷ.Ͳ%, ݕ௜௘ = ͳʹ.͵% 

as Figure 3. 

 

Figure 4. Individual Saving Rates as 𝑹 increases given 𝑹 =  𝟎. 𝟎𝟓𝒏.  

2.3 Hypotheses 

Based on Propositions 2 to 4 and our experimental design, we can test the following 

hypotheses. 

1.1 As PLS prize increases, subjects increase PLS savings. 

1.2  As interest rate increases, subjects decrease PLS savings. 
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2.1 When PLS become available, subjects decrease traditional savings. 

2.2 As PLS prize increases, the difference between traditional savings before and after 

PLS become available increases. 

2.3  As interest rate increases, the difference between traditional savings before and after 

PLS become available decreases. 

3.1 When PLS become available, subjects decrease total savings. 

3.2 As PLS prize increases, the difference between total savings before and after PLS 

become available increases. 

3.3  As interest rate increases, the difference between total savings before and after PLS 

become available decreases. 

 

3 Experiment 

3.1 Experimental design  

The experiment consisted of a series of 49 individual allocation decisions in which each 

subject always had 300 THB.7 There were five sets of scenarios: Baseline, PLS (L), PLS 

(1/5), PLS (1/20) and PLS (4/20). Two or three potential alternatives were available for 

subjects to allocate their budget: (1) receiving cash two weeks from the date of the 

experiment (early payment), (2) traditional savings (with fixed interest rate) and (3) a PLS 

account (no interest but with a possibility of winning a prize). Money allocated to traditional 

savings was paid 26 weeks from the date of the experiment and included the principal plus 

interest (r) which was 0.25%, 0.5%, 0.75%, 1% or 1.25%8 across the scenarios as shown in 

Table 1. This type of saving was always available in all scenarios. In the baseline (the first 

five scenarios), subjects could allocate money between an early consumption and a traditional 

saving account with different interest rates across the scenarios.  

                                                 
 

7 At the time of the experiments, the exchange rate was about 35 THB/USD and the minimum wage in Thailand 
was 300 THB per day. 
8 The interest rate for a standard savings account and a 6-month fixed deposit account at the Siam Commercial 
Bank (SCB) was 0.5% and 1.15% per year, respectively, at the time of experiment. Each subject owned a 
standard savings account with SCB and received her payments from this account.  
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In all other scenarios, subjects could allocate money among three alternatives: early 

consumption, traditional savings (same as a baseline) and a PLS account. Money allocated to 

the PLS account provided a guaranteed payoff of the principle investment plus a chance of 

winning a lottery prize. Subjects would receive the principal invested in this PLS account 

along with the prize (if won) 26 weeks from the date of the experiment (the same day as the 

traditional savings).    

In PLS (L), each 1 THB deposited in the PLS account increases the chance of winning a prize 

by 0.1 percentage point. Thus, a subject who deposited a maximum of 300 THB in this PLS 

account would have a 30% chance to win the prize. For each interest rate of the traditional 

savings, three different levels of lottery prizes were offered: Fair (F), Good (G), and Bad (B). 

The fair prize yields the same expected return as the traditional savings whereas the good and 

bad prizes yield higher and lower expected returns by 0.25 percentage point, respectively.9 

We varied the PLS prizes to examine the demand for the PLS account under different market 

conditions where it would be more or less attractive relative to the traditional savings. Our 

PLS (L) account was similar to the one Atalay et al. (2014) used in their experiment except 

that we varied the PLS prizes but kept the odds unchanged while they varied the odds but 

kept the PLS prizes unchanged. 

Table 1. Summary of scenarios 

Set Scenario Traditional savings interest rate PLS prize 

Baseline Baseline 1 0.25% - 

Baseline 2 0.50% - 

Baseline 3 0.75% - 

Baseline 4 1.00% - 

Baseline 5 1.25% - 

PLS (L) PLS (L) 1F 0.25% 2.50 

PLS (L) 1G 0.25% 5.00 

PLS (L) 2B 0.50% 2.50 

PLS (L) 2F 0.50% 5.00 

PLS (L) 2G 0.50% 7.50 

PLS (L) 3B 0.75% 5.00 

PLS (L) 3F 0.75% 7.50 

PLS (L) 3G 0.75% 10.00 

                                                 
 

9 When a traditional saving had a 0.25% interest rate, we could only have two scenarios: fair and good prizes for 
PLS since a bad prize would result in a zero expected return or a zero lottery prize. Therefore, there were 14 
scenarios with PLS (L). 
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PLS (L) 4B 1.00% 7.50 

PLS (L) 4F 1.00% 10.00 

PLS (L) 4G 1.00% 12.50 

PLS (L) 5B 1.25% 10.00 

PLS (L) 5F 1.25% 12.50 

PLS (L) 5G 1.25% 15.00 

PLS (1/5) PLS (1/5) 1L 0.25% 1.25 

PLS (1/5) 1H 0.25% 2.50  

PLS (1/5) 2L 0.50% 2.50 

PLS (1/5) 2H 0.50% 5.00 

PLS (1/5) 3L 0.75% 3.75 

PLS (1/5) 3H 0.75% 7.50 

PLS (1/5) 4L 1.00% 5.00 

PLS (1/5) 4H 1.00% 10.00 

PLS (1/5) 5L 1.25% 6.25 

PLS (1/5) 5H 1.25% 12.50 

PLS (1/20) PLS (1/20) 1L 0.25% 5.00 

PLS (1/20) 1H 0.25% 10.00 

PLS (1/20) 2L 0.50% 10.00 

PLS (1/20) 2H 0.50% 20.00 

PLS (1/20) 3L 0.75% 15.00 

PLS (1/20) 3H 0.75% 30.00 

PLS (1/20) 4L 1.00% 20.00 

PLS (1/20) 4H 1.00% 40.00 

PLS (1/20) 5L 1.25% 25.00 

PLS (1/20) 5H 1.25% 50.00 

PLS (4/20) PLS (4/20) 1L 0.25% 1.25 

PLS (4/20) 1H 0.25% 2.50 

PLS (4/20) 2L 0.50% 2.50 

PLS (4/20) 2H 0.50% 5.00 

PLS (4/20) 3L 0.75% 3.75 

PLS (4/20) 3H 0.75% 7.50 

PLS (4/20) 4L 1.00% 5.00 

PLS (4/20) 4H 1.00% 10.00 

PLS (4/20) 5L 1.25% 6.25 

PLS (4/20) 5H 1.25% 12.50 

 

PLS (1/5) differed from PLS (L) in that the prize winner was randomly drawn from a pool of 

5 subjects. A probability of winning the prize for an individual was equal to the total amount 

of her allocation in the PLS divided by the total allocation across the pool. In other words, 

PLS (1/5) guaranteed that there must be only one winner from the pool regardless of the total 

amount of allocation. Of course, with an exception that if no one in the pool allocated any 
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money to this PLS account, no prize would be awarded. For each interest rate of the 

traditional savings, two different levels of lottery prizes were offered: Low (L) and High (H). 

The low prize yielded the same expected return as the traditional savings if one-third of the 

endowment (an average of 100 THB per person) was allocated to this account.10 The 

expected return from the PLS (1/5) would be higher (lower) than the traditional savings if 

less (more) money was allocated to this account. In the scenarios with high prizes (H), the 

prizes were two times the prizes in the scenarios with low prizes. The amounts of the high 

prizes in PLS (1/5) were identical to the fair prizes in PLS (L). Since there were 2 levels of 

prizes for each interest rate of the traditional savings, there were a total of ten scenarios. 

PLS (1/20) and PLS (4/20) were similar to the PLS (1/5) but instead of 5 subjects there were 

20 subjects in the pool. One and four winners would receive the prizes in the PLS (1/20) and 

PLS (4/20), respectively. An individual could win at most only one prize from four identical 

prizes in the PLS (4/20). A probability of winning the prize for an individual would be 

calculated in a similar way as in the case of the PLS (1/5). Since there were four times as 

many subjects in the pool, the prizes for the PLS (1/20) were four times as high as the PLS 

(1/5) to guarantee the same total amount of prizes between them. For the same reason, each 

prize of the PLS (4/20) was the same as the PLS (1/5). By keeping the total amounts of the 

prizes the same across three methods of allocating prizes, we are able to compare the 

effectiveness of each method.  

3.2 Experimental procedures 

We conducted two experimental sessions in February and March 2017 at the Center for 

Behavioral and Experimental Economics (CBEE), Chulalongkorn University. We recruited 

80 undergraduate students at Chulalongkorn University to participate in one of the two 

sessions, with 40 subjects each. All sessions were conducted in a computer lab with cubicles 

using the software z-Tree (Fischbacher, 2007). To receive money, each subject had to provide 

a bank account number in which the experimenters would transfer money to. In addition, 

each subject was asked to complete a survey at the end of the experiment. The experimental 

instructions and the survey are in sections 7.2 and 7.3, respectively.  

                                                 
 

10 There were three alternatives, if each subject allocated money equally for each option, the expected return 
from the PLS (1/5) would be the same as the traditional savings. 



    18 
 
  

After the end of the experiment, one scenario was randomly selected to determine each 

subject’s early and late payments according to her allocation decision. In addition, each 

subject received 100 THB as a show-up fee, which was split equally between early and late 

payments (50 THB each). The early and late payments were transferred to subjects’ bank 

accounts in 2 and 26 weeks after the date of the experiment, respectively. We chose to pay a 

show-up fee twice to ensure that all subjects would receive payments twice regardless of their 

decisions. If there were any additional costs in receiving money twice instead of once, a 

subject could not avoid these costs by choosing to allocate all money in one payment since 

she would receive a minimum of 50 THB for each payment from a show-up fee. Each subject 

receives a total compensation of 402 THB on average.   

In order to avoid a possible order effect, we conducted two sessions with different orders of 

scenarios as shown in Table 2. In session 1, we first started an experiment with a baseline in 

which a PLS account was not available and introduced it in later scenarios. In contrast, in 

session 2, we first started with a scenario in which a PLS account was available and ended 

with a baseline. 

Table 2. Order of scenarios in each session 

Session 
Set 

1 2 3 4 5 

1 Baseline PLS (L) PLS (1/5) PLS (1/20) PLS (4/20) 
2 PLS (L) PLS (1/5) PLS (1/20) PLS (4/20) Baseline 

 

4 Experimental results 

Table A1 in an appendix summarizes descriptive characteristics of subjects. These 

characteristics were self-reported by subjects at the end of the experiments. All subjects were 

undergraduate students and 42% of them were male. Three quarters of subjects had never 

purchased a lottery or played a gamble. Only 30% of subjects had purchased a PLS product 

before and 15% of them had a PLS product at the time of the experiment. 

4.1 Traditional savings and PLS 

We commence by showing the effect of PLS on a saving rate, defined as the sum of savings 

in traditional savings and PLS if available divided by the endowment of 300. 
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Result 1. Holding the interest rate constant, PLS increases the savings rate. However, the 

savings rates are not significantly different across scenarios with different PLS. 

Table 3 presents the average saving rate in each scenario. It is clear from the table that an 

existence of PLS accounts results in a greater saving rate. In the Baseline scenarios, subjects 

on average put 35.4% to 58.2% of endowment in traditional savings and the savings rate is 

increasing in the interest rate, as expected. When PLS is available, the savings rate is at least 

63%. Using paired-sample t-test of mean difference, each scenario with PLS yields 

significantly higher saving rate than the corresponding baseline scenario at 1% significance 

level.  

Table 3. Average savings rate 

Interest 
rate 

Baseline 
PLS (L)  PLS (1/5)  PLS (1/20)  PLS (4/20) 

Good Fair Bad  High Low  High Low  High Low 

0.25% 
0.354 

(0.375) 
0.677 

(0.388) 
0.667 

(0.395) 
-  

0.677 
(0.410) 

0.675 
(0.413) 

 
0.666 

(0.418) 
0.653 

(0.431) 
 

0.647 
(0.428) 

0.639 
(0.429) 

0.50% 
0.381 

(0.371) 
0.737 

(0.375) 
0.700 

(0.390) 
0.674 

(0.388) 
 

0.701 
(0.394) 

0.683 
(0.410) 

 
0.714 

(0.398) 
0.662 

(0.418) 
 

0.675 
(0.422) 

0.652 
(0.429) 

0.75% 
0.446 

(0.389) 
0.753 

(0.358) 
0.703 

(0.385) 
0.694 

(0.383) 
 

0.734 
(0.382) 

0.697 
(0.402) 

 
0.733 

(0.385) 
0.695 

(0.408) 
 

0.705 
(0.399) 

0.673 
(0.426) 

1.00% 
0.496 

(0.398) 
0.758 

(0.353) 
0.726 

(0.370) 
0.730 

(0.371) 
 

0.748 
(0.370) 

0.713 
(0.390) 

 
0.770 

(0.370) 
0.719 

(0.389) 
 

0.708 
(0.398) 

0.705 
(0.404) 

1.25% 
0.582 

(0.410) 
0.787 

(0.333) 
0.766 

(0.352) 
0.757 

(0.351) 
 

0.773 
(0.367) 

0.719 
(0.388) 

 
0.805 

(0.341) 
0.725 

(0.387) 
 

0.764 
(0.373) 

0.734 
(0.390) 

Notes:  1. Standard deviations are shown in parentheses. 
2. Standard errors are shown in parentheses.  
3. The number of samples in each scenario is 80.   
4. Using ݐ-test of mean difference, the savings rate in each PLS scenario is significantly higher than that in the 

corresponding Baseline scenario with 𝑝 < Ͳ.ͲͲͳ. 

 
We also estimate the following model of total savings. 

௜ܵ௝ = 𝐿𝑃𝐿ߜ ௝ܵ𝐿 + ଵ/ହ𝑃𝐿ߜ ௝ܵଵ/ହ + ଵ/ଶ଴𝑃𝐿ߜ ௝ܵଵ/ଶ଴ + ସ/ଶ଴𝑃𝐿ߜ ௝ܵସ/ଶ଴ + 𝑿௝′𝜷 +  ௜௝ߝ
The variable ௜ܵ௝ is individual ݅’s total savings in scenario ݆ calculated from a percentage of 

money allocated to traditional savings and PLS. 𝑃𝐿 ௝ܵ௞ is a dummy variable which is equal to 

1 when scenario ݆ has PLS of type ݇ and ߜ௞ is its corresponding coefficient. 𝑿௝ is a vector of 

other control variables including interest rate dummy variables, PLS prize indicators—fair, 

good and bad prize indicators for PLS (L), and low and high prize indicator for other PLS 

types – where 0.25% interest rate, fair PLS (L) prize and low prizes for all other PLS types 

are taken as the base case and 𝜷 is a vector of coefficients. ߝ௜௝ is the error term. We also 

include a session dummy variable in Model (1) and an individual fixed-effect variable in 

Model (2). 
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Table 4 shows estimation results using OLS estimations for models (1) and (2). We observe 

very similar results between the two models but Model (2) significantly reduces the standard 

errors, which results in all key variables becoming statistically significant. This indicates that 

subject heterogeneity plays an important role in explaining the saving rate. As expected, in 

both models, the saving rate is increasing with higher interest rates as well as higher PLS 

prizes. However, these effects are relatively small compared to the effect of introducing the 

PLS account. Apparently, the availability of any PLS types significantly increases the saving 

rate by more than twenty percentage point. In addition, we observe that a single-prize PLS is 

more attractive than a multiple-prize PLS in inducing saving: the marginal effect of PLS 

(4/20) is significantly smaller than other PLS accounts (ܨ = ͳͳ.ͳʹ, 𝑝 < Ͳ.Ͳͳ for PLS (L), ܨ = ͸.ͳͲ, 𝑝 = Ͳ.Ͳͳ for PLS (1/5) and ܨ = ͹.͵ͺ, 𝑝 < Ͳ.Ͳͳ for PLS (1/20)) whereas the 

effects of three other PLS types: PLS (L), PLS (1/5) and PLS (1/20) are not significantly 

different (ܨ = ͳ.Ͳ͸, 𝑝 = Ͳ.͵Ͷͷ).  

Since the savings rate is bounded between zero and one, we also specify the savings equation 

with generalized linear model (GLM) with binomial distribution and logit link function. The 

estimation result with maximum likelihood is shown in Model (3) in Table 4. Using a 

likelihood-ratio test, Result 1 still holds. 

Table 4. The treatment effects on saving rate 

Variable 
(1) (2) (3) 

OLS OLS GLM 

Constant 0.473** 
(0.024) 

0.688** 
(0.027) 

1.254** 
(0.410) 

PLS (L) 0.261** 
(0.027) 

0.261** 
(0.013) 

2.653** 
(0.177) 

PLS (1/5) 0.245** 
(0.025) 

0.245** 
(0.011) 

2.455** 
(0.164) 

PLS (1/20) 0.247** 
(0.025) 

0.247** 
(0.011) 

2.483** 
(0.169) 

PLS (4/20) 0.223** 
(0.025) 

0.223** 
(0.011) 

2.185** 
(0.164) 

Interest rate = 0.5% 0.028 
(0.020) 

0.028** 
(0.009) 

0.309** 
(0.093) 

Interest rate = 0.75% 0.053** 
(0.020) 

0.053** 
(0.009) 

0.608** 
(0.095) 

Interest rate = 1% 0.077** 
(0.020) 

0.077** 
(0.009) 

0.904** 
(0.101) 

Interest rate = 1.25% 0.111** 
(0.020) 

0.111** 
(0.009) 

1.363** 
(0.112) 

Bad PLS (L) prize -0.012 
(0.029) 

-0.012* 
(0.013) 

-0.153 
(0.131) 
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Good PLS (L) prize 0.030 
(0.027) 

0.030** 
(0.013) 

0.395** 
(0.141) 

High PLS (1/5), PLS (1/20) or (4/20) prize 0.032* 
(0.016) 

0.032** 
(0.007) 

0.393** 
(0.070) 

Session dummy -0.151** 
(0.012) 

- - 

Subject fixed-effect No Yes Yes 

R-squared 0.086 0.807 - 

Pseudo likelihood - - -816.67 

Notes:  1. * and ** indicate significance at 5% and 1% levels, respectively.  
2. Standard errors are shown in parentheses.  
3. The number of observations in all models is 3,920.   
4. The base case is 0.25% interest rate, fair PLS (L) prize and low PLS (1/5), PLS (1/20) or (4/20) 

prize. 

 
Result 2. PLS significantly crowds out traditional savings only in scenarios with high 

interest rates.  

We estimate five regressions of traditional savings rate, one for each interest rate, with the 

same independent variables as Model (2). Table 5 shows the estimated coefficients of PLS 

dummy variables. With the interest rate of 0.25% and 0.50%, the effects of any PLS on the 

traditional savings rate are not statistically significant. Together with Result 1, at lower 

interest rate, PLS does not crowd out traditional savings but rather shifts early payment to 

PLS. In contrast, there are substitution effects between traditional savings and PLS in the 

higher interest rate scenarios but the increase in PLS is greater the reduction in traditional 

savings which results in an increase in total savings. When PLS is not available, a saving rate 

is high when an interest rate is high, thus there is a smaller room for subjects to shift their 

consumption toward PLS when PLS is available. This could be a main reason why we 

observe a decrease in traditional savings only when the interest rates are high and not when 

the interest rates are low. This result suggests that PLS will be successful in increasing a 

saving rate without reducing traditional savings especially when a saving rate is low and 

when an interest rate is low. 

Table 5. Marginal effects of PLS on traditional savings rate 

PLS type 
Interest rate 

0.25% 0.50% 0.75% 1.00% 1.25% 

PLS (L) 
-0.031 
(0.042) 

-0.065 
(0.041) 

-0.141** 
(0.042) 

-0.051 
(0.039) 

-0.192** 
(0.041) 

PLS (1/5) 
0.052 

(0.038) 
0.048 

(0.038) 
-0.009 
(0.039) 

-0.027 
(0.036) 

-0.104** 
(0.038) 

PLS (1/20) 
0.020 

(0.038) 
0.003 

(0.038) 
-0.095* 
(0.039) 

-0.114** 
(0.036) 

-0.194** 
(0.038) 
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PLS (4/20) 
0.072 

(0.038) 
0.053 

(0.038) 
-0.028 
(0.039) 

-0.021 
(0.036) 

-0.114** 
(0.038) 

Notes:  1. * and ** indicate significance at 5% and 1% levels, respectively.  
2. Standard errors are shown in parentheses.  
3. The number of observations is 720 when interest rate is 0.25% and 800 in all other interest rates.  
4. Estimates of other coefficients are omitted. 

 

Result 3. PLS reduces the number of non-savers. 

Table 6 reports subjects’ allocation decisions. Without PLS, only one-fifth of decisions had 

no consumption at all; however, when PLS was available, more than one half of decisions 

had no consumption. In addition, percent of decisions without saving (consumption = 100%) 

significantly decrease from 29.3% to 15-18% after PLS was available. This implies that PLS 

can encourage almost one half of non-savers to reduce some of their early consumption. 

 Table 6. Subjects Allocation Decisions   

Allocation 
Percent of Decisions 

Baseline 
PLS 
(L) 

PLS 
(1/5) 

PLS 
(1/20) 

PLS 
(4/20) 

All 

Consumption = 0% 20.8 52.0 53.0 54.0 51.5 49.3 

Consumption = 100% 29.3 15.7 18.3 15.8 18.6 18.2 

Traditional savings = 0% 29.3 31.3 30.1 35.8 31.3 31.7 

Traditional savings = 100% 20.8 10.3 19.5 15.9 19.8 16.3 

PLS = 0% - 28.3 40.4 35.4 40.6 31.8 

PLS = 100% - 13.6 9.6 14.8 10.0 10.9 

Deposit in traditional savings only 70.7 12.6 22.1 19.6 22.0 18.5 

Deposit in PLS only - 15.5 11.9 20.0 12.6 15.1 

Deposit in both  - 56.2 47.8 44.6 46.8 51.7 

Number of observations 400 1,120 800 800 800 800 

 

4.2 Rejecting Expected Utility Model 

We estimate the parameters in the equilibrium portfolio allocation assuming that subjects are 

homogenous. All models are estimated with the non-linear least squares estimator. First, we 

estimate ߙ and ߚ in the baseline scenarios with the following traditional savings 

specification.  

௜௢ݔ = ln(ߚ௜ሺͳ + (ሻݎ + ʹሺߙ௜ߙ + ሻݎ +  ௜ߝ
As shown in Model (4) in Table 6, the result suggests that subjects are on average risk-averse 

and they discount future payment slightly.  
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With the same underlying expected utility theory, we estimate ߙ in PLS (1/5), PLS (1/20) and 

PLS (4/20) scenarios using the following PLS specification.  

௜௘ݕ = ሺ𝑛 − ͳሻሺͳ − ݁−𝛼𝑅ሻߙ𝑛ݎሺ𝑛 − ͳ + ݁−𝛼𝑅ሻ +   ௜ߝ
As shown in Model (5) in Table 6, the estimate of ߙ is larger than in Model (4), which means 

that subjects are more risk-averse when PLS is available. In addition, the estimate of ߚ is 

greater than one (ܨ = ͹.ʹ͵, 𝑝 < Ͳ.Ͳͳ), which means that subjects discount early payment 

rather than future payment. Since subjects could receive early payment and spend later, an 

implication of discounting early payment may not be reasonable. We can conclude that 

subjects’ behavior, when PLS is available, are not consistent with the underlying expected 

utility theory. This is not surprising given the fact that many subjects allocate a large amount 

of money into a PLS account. 

Table 6. Estimated parameters in equilibrium portfolio allocation 

Parameter (4) (5) ݔ௢ ݔ௘ +  ߙ ௘ݕ
 

0.021** 
(0.005) 

0.051** 
 **0.991 ߚ (0.012)

(0.001) 
1.014** 
(0.005) 

R-squared 0.584 0.759 
Scenarios Baseline PLS (1/5), PLS 

(1/20) and PLS 
(4/20) 

Obs. 400 2,400 
Notes:  1. * and ** indicate significance at 5% and 1% levels, respectively.  

2. Standard errors are shown in parentheses.  

ߙ is a risk-averse parameter (subjects are risk-averse if ߙ .3 > Ͳ) and ߚ is a discount factor.  

 

5 Future works 

We investigate the effect of PLS on savings behavior both theoretically and experimentally. 

Although the theory suggests that introduction of PLS reduces savings, the experimental 

results show that PLS significantly increases savings. In addition, PLS does not crowd out 

traditional savings especially when the interest rate is low. Apparently, the observed behavior 

is inconsistent with the theoretical model with expected utility theory. We still need to 

reconcile the theoretical model by incorporate behavioral economic assumptions. This would 

provide more insight into why PLS could induce savings without considerably cannibalizing 

traditional savings.  
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7 Appendix 

7.1 Additional Table 

Table A1. Descriptive Characteristics of Subjects 

Characteristics Fraction of subjects Characteristics Fraction of subjects 

Gender  Saving rate  
    Male 0.42     < 10% 0.21 
    Female 0.58     10-20% 0.31 
Age      20-30% 0.26 
    18-19 0.15     30-40% 0.13 
    20-21 0.63     40-50% 0.01 
    22-23 0.20     > 50% 0.08 
    24-26 0.02 Lottery  
Department      Never 0.73 
    Science 0.28     Once in a while 0.24 
    Economics 0.20     Few times a year 0.01 
    Accounting 0.13     Every month 0.02 
    Psychology 0.11     Every week 0.00 
    Engineering 0.08 Gamble  
    Political Science 0.08     Never 0.75 
    Arts 0.05     Once in a while 0.16 
    Other 0.07     Few times a year 0.05 
Year      Every month 0.03 
    First 0.12     Every week 0.01 
    Second 0.39 Has bought PLS  
    Third 0.26     Yes 0.30 
    Fourth 0.23     No 0.70 
Cognitive score  Currently has PLS  
    0 0.35     Yes 0.15 
    1 0.22     No 0.85 
    2 0.19   
    3 0.24   

Notes:  1. Number of observations is 80. 
2. Other departments include Agriculture, Architect, Communications, Health Science, Laws, 

Medicine, and Sport Science. 
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7.2 Instructions 

ค ำอธิบำยกำรทดลอง 
ยิ น ดี ต้ อ น รั บ สู่ ก า ร ท ด ล อ ง ก า ร ตั ด สิ น ใ จ  คุ ณ จ ะ ไ ด้ รั บ ค่ า ต อ บ แ ท น จ า ก ก า ร ท ด ล อ ง 
ซ่ึงจะถูกโอนเข้าบัญชีธนาคารไทยพาณิชยข์องคุณตามเลขบัญชีท่ีคุณได้กรอกในใบแจ้งค่าตอบแทนจากการทดลอง 
ค่าตอบแทนจากการทดลองจะแบ่งเป็นสองส่วน ไดแ้ก่  

1) ค่ า เ ข้ า ร่ ว ม ก า ร ท ด ล อ ง แ ล ะ ต อ บ แ บ บ ส อ บ ถ า ม เ ป็ น จ า น ว น  1 0 0  บ า ท 
ซ่ึง คุณจะได้รับเ งินงวดแรกจ านวนคร่ึงหน่ึง (50 บาท) ใน 2 สัปดาห์นับจากวันน้ี 
และงวดท่ีสองเป็นจ านวนคร่ึงหน่ึง (50 บาท) ใน 26 สปัดาห์นบัจากวนัน้ี  

2) ค่าตอบแทนจากการตดัสินใจเป็นจ านวนอยา่งนอ้ย 300 บาท ซ่ึงคุณจะไดรั้บโอนงวดแรกในอีก 2 
สั ป ด า ห์ ห รื อ ง ว ด ท่ี ส อ ง ใ น อี ก  26 สั ป ด า ห์ นั บ จ า ก วั น น้ี 
ห รื อ ไ ด้ รั บ โ อ น บ า ง ส่ ว น ใ น ง ว ด แ ร ก แ ล ะ ส่ ว น ท่ี เ ห ลื อ ใ น ง ว ด ท่ี ส อ ง 
ทั้งน้ีค่าตอบแทนท่ีคุณจะไดรั้บในแต่ละงวดจะเป็นเท่าใดจะข้ึนอยูก่บัการตดัสินใจของคุณในการทดลอง 

วนัน้ีคือวนัท่ี        

งวดแรก (2 สปัดาห์นบัจากวนัน้ี) คือวนัท่ี     

งวดท่ีสอง (26 สปัดาห์นบัจากวนัน้ี) คือวนัท่ี     

การทดลองน้ีประกอบไปด้วย 2 ส่วน ส่วนแรกคือการทดลองการตัดสินใจ ซ่ึงจะใช้เวลาไม่เกิน 1 ชั่วโมง 
และส่วนท่ี 2 คือแบบสอบถามซ่ึงจะใชเ้วลาไม่เกิน 30 นาที 

ส่วนท่ี 1 การทดลองการตดัสินใจ 

ส่วนท่ี 1 ประกอบด้วยชุดค าถาม 5 ชุด ซ่ึงจะมีสถานการณ์ทั้ งหมด 49 สถานการณ์ให้คุณตัดสินใจ 
ร ะ บ บ จ ะ สุ่ ม เ ลื อ ก ส ถ า น ก า ร ณ์  1  ส ถ า น ก า ร ณ์ จ า ก  4 9 
ส ถ า น ก า ร ณ์ เ พ่ื อ น า ม า ค า น ว ณ เ ป็ น ค่ า ต อ บ แ ท น จ า ก ก า ร ตั ด สิ น ใ จ ข อ ง คุ ณ 
เ น่ืองจากคุณไม่ทราบว่าค่ าตอบแทนของคุณจะค านวณจากสถานการณ์ใดใน 49 สถานการณ์ ดังนั้ น 
คุณควรจะตดัสินใจอยา่งรอบคอบในสถานการณ์ทุก ๆ สถานการณ์ สถานการณ์จะแบ่งเป็นชุด A ถึงชุด E ดงัน้ี 

สถำนกำรณ์ชุด A 

สถานการณ์ชุด A ประกอบด้วยสถานการณ์ 14 สถานการณ์ A1 ถึง A14 ในแต่ละสถานการณ์ 
คุณจะต้อง เ ลือกแบ่งเ งิน 300 บาทเป็นสามก้อน ได้แก่ เ งิน ท่ีจะ รับในงวดแรก เ งินออมแบบ ก 
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และเงินออมแบบ ข คุณจะได้รับเงินงวดแรกในอีก 2 สัปดาห์ และคุณจะได้รับคุณจะได้รับเงินออมแบบ ก 
แ ล ะ แ บ บ  ข  พ ร้ อ ม ผ ล ต อ บ แ ท น ใ น อี ก  26 สั ป ด า ห์  เ งิ น อ อ ม แ บ บ  ก 
จะ จ่ ายดอก เ บ้ี ย เ งินออมแตกต่ า งกัน ในแต่ ละสถานการ ณ์ ส่ วน เ งินออมแบบ ข จะไ ม่ จ่ า ยดอก เ บ้ี ย 
แต่คุณมีโอกาสท่ีจะไดรั้บรางวลัเป็นเงินท่ีจะไดรั้บในงวดท่ีสองพร้อมเงินตน้ โดยคุณจะมีโอกาสไดรั้บรางวลัเพ่ิมข้ึน 
0.1% ส าหรับ เงินทุก ๆ บาทท่ีคุณออมในบญัชีน้ี 

ตวัอย่างเช่น ในสถานการณ์ A1 ซ่ึงดอกเบ้ียเท่ากับ 0.25% คุณเลือกรับเงิน 100 บาทในงวดแรก 
ออมเงินในบัญชี ก เป็นจ านวน 100 บาท และออมเงินในบัญชี ข เป็นจ านวน 100 บาท 
คุณจะไดค้่าตอบแทนจากการทดลอง 50 + 100 = 150 บาท ในงวดแรก และ 50 + 100 + 
1.25 + 100 + 15= 266.75 บาทในงวดท่ีสองถา้ถูกรางวลั หรือ 50 + 100 + 1.25 
+ 100 = 251.25 บาทในงวดท่ีสองถา้ไม่ถูกรางวลั (ดอกเบ้ีย 1.25% จากเงินตน้ในบญัชี ก 100 
บาท เ ท่ ากับ 1.25 บาท และรางวัล เ งินต้นในบัญชี ข เ ท่ ากับ 15 บาท) 
คุณจะมีโอกาสถูกรางวลัจากออมเงินในบญัชี ข 0.1% × 100 = 10%  

ใ น หน้ า จ อ ข อ ง คุ ณ คุ ณ จ ะ ต้ อ ง เ ลื อ ก เ งิ น ท่ี คุ ณ ต้ อ ง ก า ร จ ะ อ อ ม แ บ บ ก แ ล ะ เ งิ น อ อ ม แ บบ ข 
เงินส่วนท่ีเหลือจะถือว่าเป็นเงินท่ีตอ้งการรับในงวดแรก (ซ่ึงเท่ากับ 300 ลบด้วยจ านวนเงินออม) 
ระบบจะค านวณเงินท่ีไดรั้บในแต่ละงวดให้คุณ คุณสามารถเลือกแบ่งเงินไปออมทั้ง 2 แบบ หรือแบบใดแบบหน่ึง 
หรือไม่ออมเลยก็ได ้แต่ผลรวมของเงินท่ีจะรับในงวดแรก เงินออมแบบ ก และเงินออมแบบ ข จะตอ้งเท่ากบั 
30 0  บ า ท  ด อ ก เ บ้ี ย ส า ห รั บ เ งิ น อ อ ม แ บ บ  ก แ ล ะ ร า ง วั ล ส า ห รั บ เ งิ น อ อ ม แ บ บ  ข 
จะแตกต่างกนัในแต่ละสถานการณ์ กรุณาตดัสินใจเลือกเงินออมแบบ ก และแบบ ข ในสถานการณ์ A1 ถึง 
A14 ท่ีคุณพึงพอใจท่ีสุด 

สถำนกำรณ์ชุด B 

สถานการณ์ชุด B ประกอบด้วยสถานการณ์ 10 สถานการณ์ B1 ถึง B10 ในแต่ละสถานการณ์ 
คุณจะต้อง เ ลือกแบ่งเ งิน 300 บาทเป็นสามก้อน ได้แก่ เ งิน ท่ีจะ รับในงวดแรก เ งินออมแบบ ก 
และเงินออมแบบ ค คุณจะได้รับเงินงวดแรกในอีก 2 สัปดาห์ และคุณจะได้รับคุณจะได้รับเงินออมแบบ ก 
และแบบ ค พร้อมผลตอบแทนในอีก 26 สัปดาห์ เงินออมแบบ ก จะจ่ายดอกเบ้ียแบบเดียวกบัสถานการณ์ชุด 
A ส่ ว น เ งิ น อ อ ม แ บ บ  ค  จ ะ ไ ม่ จ่ า ย ด อ ก เ บ้ี ย 
แต่ คุณมีโอกาส ท่ีจะได้ รับรางวัล เ ป็น เ งิน ท่ีจะได้ รับในงวด ท่ีสองพ ร้อม เ งินต้น ส่ิ ง ท่ี เ งิ นออมแบบ ค 
แ ต ก ต่ า ง จ า ก เ งิ น อ อ ม แ บ บ ข ใ น ส ถ า น ก า ร ณ์ ชุ ด A คื อ 
โอกาสท่ีคุณจะได้รับรางวลัจะข้ึนอยู่กับจ านวนเงินท่ีคุณและคนอ่ืน ๆ ในกลุ่มออมในเงินออมแบบ ค นั่นคือ 
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คุณจะถูกจบักลุ่มกบัผูเ้ขา้ร่วมการทดลองอีก 4 คนแบบสุ่ม เป็นกลุ่มละ 5 คน ผูเ้ขา้ร่วมการทดลอง 1 ใน 5 
ค น ใ น แ ต่ ล ะ ก ลุ่ ม  จ ะ เ ป็ น ผู ้ ไ ด้ รั บ ร า ง วั ล  นั่ น คื อ 
โอกาสท่ีคุณจะไดรั้บรางวลัสามารถค านวณไดจ้ากสดัส่วนเงินออมของคุณต่อเงินออมรวมของทุกคนในกลุ่มของคุณ ทั้งน้ี 
ผูเ้ขา้ร่วมทดลองแต่ละคนจะไม่ทราบวา่มีใครอยูใ่นกลุ่มบา้ง 

ตวัอย่างเช่น หากคุณออมเงินแบบ ค เป็นจ านวน 100 บาท และจ านวนเงินออมทั้ งหมดของกลุ่มของคุณ 
(รวมเงินออมของคุณ 100 บาท) เท่ากบั 400 บาท โอกาสท่ีคุณจะถูกรางวลัจะเท่ากบั 100 ÷ 400 
= 0.25 หรือ 25% แต่หากจ านวนเ งินออมทั้ งหมดของก ลุ่มของคุณเ ท่ากับ 1,000 บาท 
โอกาสท่ีคุณจะถูกรางวัลจะเท่ากับ 100 ÷ 1,000 = 0.10 หรือ 10% ทั้ ง น้ี 
คุณจะ มี โอก าสได้ รั บ ร า ง วัล สู ง ข้ึ น หาก คุณออม เ งิ นแบบ ค มาก ข้ึ น ดอก เ บ้ี ย เ งิ นออมแบบ ก 
และรางวลัส าหรับเงินออมแบบ ค จะแตกต่างกันในแต่ละสถานการณ์ กรุณาตัดสินใจเลือกเงินออมแบบ ก 
และแบบ ค ในสถานการณ์ B1 ถึง B10 ท่ีคุณพึงพอใจท่ีสุด 

สถำนกำรณ์ชุด C 

สถานการณ์ชุด C ประกอบดว้ยสถานการณ์ 10 สถานการณ์ C1 ถึง C10 ในแต่ละสถานการณ์ 
คุณจะต้อง เ ลือกแบ่งเ งิน 300 บาทเป็นสามก้อน ได้แก่ เ งิน ท่ีจะ รับในงวดแรก เ งินออมแบบ ก 
และเงินออมแบบ ง คุณจะได้รับเงินงวดแรกในอีก 2 สัปดาห์ และคุณจะได้รับคุณจะได้รับเงินออมแบบ ก 
และแบบ ง พร้อมผลตอบแทนในอีก 26 สัปดาห์ เงินออมแบบ ก จะจ่ายดอกเบ้ียแบบเดียวกบัสถานการณ์ชุด 
A ส่ ว น เ งิ น อ อ ม แ บ บ  ง  จ ะ ไ ม่ จ่ า ย ด อ ก เ บ้ี ย 
แ ต่ คุ ณ มี โ อ ก า ส ท่ี จ ะ ไ ด้ รั บ ร า ง วั ล เ ป็ น เ งิ น ท่ี จ ะ ไ ด้ รั บ ใ น ง ว ด ท่ี ส อ ง พ ร้ อ ม เ งิ น ต้ น 
วิ ธี ก า ร ค า น วณ โ อ ก า ส ก า ร ไ ด้ รั บ ร า ง วัล จ า ก เ งิ น อ อ ม แ บ บ  ง จ ะ เ ห มื อ น กั บ เ งิ น อ อ ม แ บ บ ค 
ยก เว ้นจ านวนคนในก ลุ่มในการจับรางวัลจะ มี 20 คน ทั้ ง น้ี คุณจะ มีโอกาสได้ รับรางวัล สูง ข้ึน 
หาก คุณออม เ งิ นแบบ ง มาก ข้ึน ดอก เ บ้ี ย เ งินออมแบบ ก และร าง วัลส าห รับ เ งินออมแบบ ง 
จะแตกต่างกนัในแต่ละสถานการณ์ กรุณาตดัสินใจเลือกเงินออมแบบ ก และแบบ ง ในสถานการณ์ C1 ถึง 
C10 ท่ีคุณพึงพอใจท่ีสุด 

สถำนกำรณ์ชุด D 

สถานการณ์ชุด D ประกอบดว้ยสถานการณ์ 10 สถานการณ์ D1 ถึง D10 ในแต่ละสถานการณ์ 
คุณจะต้อง เ ลือกแบ่งเ งิน 300 บาทเป็นสามก้อน ได้แก่ เ งิน ท่ีจะ รับในงวดแรก เ งินออมแบบ ก 
และเงินออมแบบ จ คุณจะได้รับเงินงวดแรกในอีก 2 สัปดาห์ และคุณจะได้รับคุณจะได้รับเงินออมแบบ ก 
และแบบ จ พร้อมผลตอบแทนในอีก 26 สัปดาห์ เงินออมแบบ ก จะจ่ายดอกเบ้ียแบบเดียวกบัสถานการณ์ชุด 
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A ส่ ว น เ งิ น อ อ ม แ บ บ  จ  จ ะ ไ ม่ จ่ า ย ด อ ก เ บ้ี ย 
แ ต่ คุ ณ มี โ อ ก า ส ท่ี จ ะ ไ ด้ รั บ ร า ง วั ล เ ป็ น เ งิ น ท่ี จ ะ ไ ด้ รั บ ใ น ง ว ด ท่ี ส อ ง พ ร้ อ ม เ งิ น ต้ น 
วิธีการค านวณโอกาสการได้รับรางวลัจากเงินออมแบบ จ จะเหมือนกับเงินออมแบบ ง ในสถานการณ์ชุด C 
กล่าวคือ โอกาสท่ีคุณจะได้รับรางวัลข้ึนอยู่กับจ านวนเงินท่ีคุณและคนอ่ืน ๆ ออมในบัญชีน้ี 
และแต่ละก ลุ่มประกอบไปด้วย 20 คน แต่ จะ มีผู ้ ถู กรางวัลทั้ งหมด 4 คนในแต่ละก ลุ่ม ทั้ ง น้ี 
คุณจะ มี โอก าสได้ รั บ ร า ง วัล สู ง ข้ึ น หาก คุณออม เ งิ นแบบ จ ม าก ข้ึน ดอก เ บ้ี ย เ งิ นออมแบบ ก 
และรางวลัส าหรับเงินออมแบบ จ จะแตกต่างกันในแต่ละสถานการณ์ กรุณาตัดสินใจเลือกเงินออมแบบ ก 
และแบบ จ ในสถานการณ์ D1 ถึง D10 ท่ีคุณพึงพอใจท่ีสุด 

สถำนกำรณ์ชุด E  

สถานการณ์ชุด E ประกอบด้วยสถานการณ์ 5 สถานการณ์ E1 ถึง E5 ในแต่ละสถานการณ์ 
คุณจะต้องเลือกแบ่งเงิน 300 บาทเป็นสองก้อน ได้แก่ เ งินท่ีจะรับในงวดแรก และเงินออมแบบ ก 
ซ่ึงจะไดรั้บในงวดท่ีสอง คุณจะไดรั้บเงินงวดแรกในอีก 2 สัปดาห์ และคุณจะไดรั้บเงินออมพร้อมดอกเบ้ียในอีก 
26 สั ป ด า ห์  เ งิ น อ อ ม แ บ บ  ก  จ ะ จ่ า ย ด อ ก เ บ้ี ย แ บ บ เ ดี ย ว กั บ ส ถ า น ก า ร ณ์ ชุ ด  A 
กรุณาตดัสินใจเลือกจ านวนเงินออมแบบ ก ในสถานการณ์ E1 ถึง E5 ท่ีคุณพึงพอใจท่ีสุด 
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7.3 Survey Questions 

1. อาย:ุ 
2. เพศ: 
3. คณะ: 
4. ชั้นปี: 
5. ในสถานการณ์ชุด A คุณมีวธีิการในการแบ่งเงินท่ีคุณจะไดรั้บในอีก 2 สปัดาห์ หรือ 10 สปัดาห์อยา่งไร 
6. คุณมีความคิดเห็นอยา่งไรกบัวธีิการออมเงินซ่ึงไม่จ่ายดอกเบ้ีย แต่ไดรั้บโอกาสท่ีจะถูกรางวลัใหญ่แทน 
7. เปรียบเทียบระหวา่งเงินออมท่ีไม่จ่ายดอกเบ้ีย คุณชอบแบบ ข ซ่ึงคุณจะทราบโอกาสท่ีถูกรางวลั หรือ แบบ ค 
ง จ ซ่ึงคุณจะทราบวา่จะตอ้งมีคนในกลุ่มถูกรางวลัอยา่งแน่นอน มากกวา่กนั เพราะอะไร 

8. เปรียบเทียบระหวา่งการออมแบบ ค ซ่ึงมีผูถู้กรางวลัเลก็ 1 คน จาก 5 คน กบัแบบ ง 
ซ่ึงมีผูถู้กรางวลัใหญ่ 1 คน จาก 20 คน คุณชอบแบบใดมากกวา่กนั เพราะอะไร 

9. เปรียบเทียบระหวา่งการออมแบบ ง ซ่ึงมีผูถู้กรางวลัใหญ่ 1 คน กบั แบบ จ ซ่ึงมีผูถู้กรางวลัเลก็ 4 คน 
จากจ านวน 20 คน เท่ากนั คุณชอบแบบใดมากกวา่กนั เพราะอะไร 

10. คุณออมเงินเป็นจ านวนร้อยละเท่าใดของรายไดห้รือเงินเดือน 
11. ยอดเงินรวมของคุณในทุกบญัชี ณ วนัสุดทา้ยของเดือนท่ีแลว้เป็นเท่าไร 
12. คุณเคยซ้ือสลากออมสินหรือสลาก ธกส. หรือไม่ 
13. ปัจจุบนัคุณมีสลากออมสินหรือสลาก ธกส. ท่ียงัไม่ครบก าหนดถอนหรือไม่ 
14. คุณซ้ือลอตเตอร่ีบ่อยเพียงได (ก) ทุกงวด (ข) ทุกเดือน (ค) ไม่ก่ีคร้ังต่อปี (ง) นาน ๆ 
คร้ัง (จ) ไม่เคยซ้ือ 

15. คุณเล่นการพนนั เช่น พนนัฟตุบอล ไพ ่คาสิโนบ่อยเพียงใด (ก) ทุกอาทิตย ์(ข) ทุกเดือน 
(ค) ไม่ก่ีคร้ังต่อปี (ง) นาน ๆ คร้ัง (จ) ไม่เคยเล่นการพนนั 

Cognitive reflection test  

16. ไมเ้ทนนิสและลูกเทนนิสราคารวมกนั 110 บาท ไมเ้ทนนิสราคามากกวา่ลูกเทนนิส 100 บาท 
ลูกเทนนิสราคาเท่าใด 

17. ถา้เคร่ืองจกัร 5 เคร่ืองใชเ้วลา 5 นาทีในการผลิตสินคา้ 5 ช้ิน เคร่ืองจกัร 100 
เคร่ืองจะใชเ้วลาก่ีนาทีในการผลิตสินคา้ 100 ช้ิน 

18. มีใบบวัอยูใ่นบึง ในแต่ละวนั ปริมาณของใบบวัจะเพ่ิมข้ึนเป็นเท่าตวั ถา้ใบบวัปกคลุมบึงทั้งบึงในเวลา 48 
วนั ใบบวัจะใชเ้วลาก่ีวนัในการปกคลุมบึงคร่ึงหน่ึง 
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